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There are four parts in this Question Booklet.

Part IV (A) and Part IV (B) has options of differe
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i S § ) e ¥ wem wr, fidvg wm
W WP (1) T g e (@) s & S e
fa, éagsfum'(ar)qa‘agafm(a)ﬁ’ﬁ‘aﬁla@‘cﬁﬁw%wﬁ%aﬁé\

Part 1, Part I1 and Part IH are compulsory.
nt subjects. Candidates are directed to choose

T AT 9FT % 9 % SR 2 arframd ¥
fawnl & &1 wheni #) fw foar o @

PART -1}
Child Development and Pedagogy

assists students in dealing

with socio -~ economic issues that might
affect their talent.

(A) Autonomous learning model
(B) Differential Instructions
(C) Cutriculum extenstion

(D) Cognitivé Taxonomy

“Model of Learning” which motivates
creativity of children ?

{(A) Banking Model

(B)  Constructivist Model

(C) Programming Model

(D) None of these

Mental retardation caused by birth
injuries or foetal damage is called :

(A} Organic retardation
(B) Familial retardation
(C) Incidental retardation
(D) Medical retardation
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According to Piaget how many stages of
 child’s cogmtive development.

(A} 3 stages (B)
(D) 6 stages

4 stages
(C) b stages

Each of the following is an example of
synthesis except __

{A) FEssay writing
(B) Delivery lecture
(C) Proving theorem

(D) Colouring the picture

A child with Intelligence Quotient 105
will be classified as :

{A) Superior Intelligence

(B} Above average intelligence

(C) Normal or average intelligence
(D) Dull

Lowrence Khohlberg is known for his
research in the field of

development.
(A) Cognitive (B) Physical
(C} Moral (D) Motor

Which learning is permanent ?
(A} Byrote

(B} By listening

{C} By understanding

(D) By seeing
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10.

11.

12,

According to lgiaget at what stage a child

does abstract thinking intelligent activities

and problem solving ?

{A) Pre - operational stage (2 - 7 years)

(B) concrete operational stage
(7 - 11 years)

(C) Formal operational stage
(11 - 16 years)

(D) Sensory Motor Stage (0 - 2 years)

Objective of evaluation is :
(A) To declare the child pass/fail.
(B) To know what the child has learnt

(C} To know about learning difficulties
of child

(D) All of above

Development of child is the result of :

" (A)  Heredity

(B) Environment

(C)- Interaction of Heredity and
environment | |

(D). Economic Factors

Continuous  and comprehensive
Evaluation is more appropriate than
examination for quality education
because :

(A) Scholastic Area is evaluated

(B} Co - scholastic Area is evaluated

(C) Evaluation is continuous and of

comprehensive Areas
(D) All above
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What is used for teaching children with

13. 13. GRS S ol GE o feTd 1 St ol
hearing disability ? St 8 7
(A) Brail (A) St
(B) Sign Language (B) qinfEw ww
(C) Machine (C) I3
(D) Al of above (D) STE T
14, Which of the following is not helpful in 14 Freifefes § O w0 =R S gD &
development of creativity in children ? Tyl H TETE TE § 7
(A) play/gamie () B |
(B) lecture . (B) wEW
(C) story writing (C) AT T
(D) construction activity (D) Fmim gt framd o |
15. Who propounded “Two Factor Theory of 15. ‘“afg ¥ foave fagr” & Wi fora
Intelligence” ? foran 2 _ _
(A) Spearmanl (B) Thurstone (a) formed (B) uHeA
() Giford (D) Gene © fewd s (D) W
16. Harward Garner has theorised all of the 16 arE ek g B A QT SIS A
following as types of intelligence it gfs & R SO Y ¥
except : ' .
(A) Language (A) W™ e
(B) Creativity (B) M
(C) Interpersonal skills () siadafr SR
(D) intra personal skills (D) sia:dakwks
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17.  According to Bigg and Hunt the one

18.

19.

word which best characterises the
specialities of is “change”.
The change is sociological, psychological

and physiological.
(A} Infancy (B} Chilhood

(C) Adolescence (D) Adulthood

¥robel's most important contribution to

education was development of

———

(A) Vocational School
(B) TPublic School
(€} Kinder Garten

(D) Latin School

A child and her father are strollmg. The
child knows there are such things as birds
but she had never seen a kite before.
Upon seeing the kite she says “see the
bird” and her father says” that is a kite”.
The example demonstrates.

(A) Assimilation
{B) Accomodation
(C) Conservation

(D} Object performance
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Set-B 8

" 20. “Classical conditioning Theory of  20. HIGd @l FAlldhe wSl¥MAT " (HSGId
Learning” is given by : wicariee feram o | ,
(A) Skinner (B) Pavlov (A) f&w (B) tﬁ?ﬁ/
(C) Thorndike (D) . Kohlberg (C) =riew® (D) e
21. Which one is not_' the importént factor of 21, Tr=fofEa o gomeierr & wEae &0 &
creativity ? ¥?
(A) ' Originality (B} Discipline (Ay ifermar (B) STHIET
(C) Fluency (D) Flexibility (©) wwwEfEm , (D) T
22. The following is learnt under signal 22, H%d SR % mfaﬁraﬁﬁaﬂﬁ'l@w
learning. g
(A) Psychology (A)y weifER 1/
(B} Traditional Accomodation (B) - WrEfih s1ypan
(C} Environment (C) EI'!H'IETUT ad
(D) Psychophysical (D) wARTEF
23. The propounder of Ieafning theory “Trial ~ 23. HirEd & "‘waw iR yor fagra '’ & wfoues
and Errpr" is #:
(A) Kohler (A) WS
(B) Thorndike O RE I
(C) Pavlov (C) e
(D) Skinner D) far X
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- 24.

26.

27,

In a classroom fields individual difference
can be :

{A) Interest

(B) Learning

(C) Character

() All of the above

A 13 year old boy quarrels with his elders
in any matter and always tries to prove
himself right.
development he is :

(A} Early childhood
(B) Adolesc:ehce
(C) Youth

(D) Childhood

In which stage of

Education Develops the inherent ability
in man to perfection. Whose statement is

this :

(A} Swami Vivekanand
(B) Skinner

(C) Pestology

{D) Rabindranath Tagore

Which of the following is an example of
specific learning disability ?

(A) Mental Retardation

(B) Dyslexia |

(C) Attention Deficit Hyper Disorder
(D} Autism

24,
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28. Direction of the development of the child 28, =& & ¥R 7 fiFaars famm =) fomm
is : AT
(A) From head to toes and from (A) T g ¥ g9r vl & wme 9 Oem #
extremities of the body to centre i v
(B) From head to toes and from cenire B) fm3A ﬁ'{ o TR & He T Al i
of the body to the extremities. 3R .
(C) From toes to head and from (C) @ R g R F T A g A
extremities of the body to centre. A
(D) From toes to head and from centre (D) T H g g vk & 77 § e 5
of the body to the extremities. AR
29. “Learning is a process of progressive 29, ‘e SAagR | ITWIT RS Hi G
behaviour adaptation” this is a statement e TEHFE T
of :
(A) Crow and crow (A) ®BIIH
(B) Piaget By T
(C) Skinner (C) F=™
(D) Kohler (D) wHiER
30. Social learning begins with : 30. SrNSTR SHETY SRR B
(A} Alincation (A) TS |
(B) Crowd (B) #HH
(C) Contact (C) "Hoh & v’
(D) Audio - Visual Aids (D) ¥ Foa W |
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39,

iR TG H I © A1, TR TR o HeT A S e o oY ©
(A) sFERdrTE 34
(5) T v (a) dgmER~
(C) wHERA ®) @ ER
(D) % © =R
D
40. Y I H GAEETE IE B .{) ES
(A) afgag v |
®) Fa 45. Wlalﬂﬂrﬂﬂﬁ'@ﬁl%:
(C) smd (A) fot @iy
(D) (B) M
(C) oA EiY
41, ﬁmﬁﬁﬂ,ﬂaﬁm agawq%: D) e
(A) T A
(B) WA v | - |
© faaa | g6, ‘fm gm v H faeR I ¥ Be e €
, T E? " -
(D) wiara ardE
(A) U
12. o F <fe | 5w s T E? (B) fw
(a) ]|/ (©) g
(B) "TF (D) i urg
(C) &% | '
®) &% 47, T ¥ siv ) T Freatan A A
N 7 '
43, SR T T A I BT E? &) T
(Ay ¥
® " () Hea
© = (C) TSHEY
® = (D) A
T® HE % 679 9% / SPACE FOR ROUGH WORK
1102/F-152/ ET-E

Set - B




48.

49.

50.

51.

Fretifens el § | *“ Haly Sgafy”’ wmmiiE

(A) AT
{(B) Tqwu

Q) s

(D) &9y

aaaamﬁaﬁam%m
(A) =3 A7

(B) &M

< =
(D) %= v’

Frfeiga amm § s T fo = el 3

T iRm fas s we?

A ;A TE T A H G R,
ﬁﬂ%ﬁs‘lﬁg@mﬂm?gﬂa

(A) =18 faum

(B) Wwﬁ%(ﬁw)

(C) I foaum

(D) ot fm

et vl ufe fart et T g
THY T 7 3 W Y

T = i T

(A) & W AR |

B) sifireT = wifm

(©) v v wie WX

(D) mmwﬁa

52. T HR @ SR 75 T
(A) FEEuE
(B) H@=AR
(C) oS

(D) @it e

53. T8 o H frw A @ e gm

et 35 e 8 e i
A ER .. & |

(A) a"lﬁa%aﬁ,ﬁaa’-@.b}
(B) #W 79N & ¥ Hgul
(C) M T TR, e T S

(D) 3T &1 He0S

54, wmaﬁwmﬁmﬁwmﬁu
B E S T HE & ?

(A) T HRE
(B o T
(C) HORM F1E

(D) gt R

T &1 % 79 9% / SPACE FOR ROUGH WORK

1102/F-152/ET-E

13 - Set- B



~.

\‘\

mmssﬁw%ﬁﬁﬁéw:

'“-WHWWa#Ww%mWf |

S e o T fEael s @
uﬁi@xﬁﬁmsﬁaﬁw%lﬁawm
¥ aroifaa wdl = vl @ fira w0 ge Wi
mﬁﬁﬁwﬁﬁmaﬂ%%l =& gftfeafasnt o5
1 SRR e S A g @ wee -
fipt B & TR gurd ¥ wEbE @ 9w ik
FETRTE T e TRl H e H oia: fransdl

N 3R R R Pef e ) g v
. v e wS @ SEl & Rl SR ST R
. firer ¥ e w framitel ot 3 Foiol 1 W

e ¥ foru fran T o1 39 UR W SUReRT HHE

T ) afmfem w9 9 ¢ Sramvea’! # e @
T wwdt ¥ uftfeafiE) oF % wewl § i &
enTY, SRS e, SEe T, S,

" Seares, TUHRT (GEA T 9 IR Wi €1

T W g @ gy e w Aemel ®
fomtor o Foparer gondt Farevardt ¥
55. SRRyt o =1 SIS i U8 HLH TE ¢
(A) |4 T
-(B) et e
(€ wE I v
(D) W

' 56_.“. : qmﬁmmﬁaﬁwmaﬁuﬁmﬁam

58.

59.

. &l st 37 Tatm HO9ER el

FT HEAd §

(B) e % HiE d
Q) T HTEH X
(D) TR w7,

ﬁgﬁﬁ%ﬁﬁsﬁmaﬁaﬁﬁﬁrwﬁa—ﬂﬁ
fepet s #eTel 1 SEEE R

(A) 1 TR
(B) < HivR &l
(©) ‘aﬁaﬁ%aﬂmam/
(D) U3 FHA W

T HIv W At T T

YHE T () T erg 1 Tre & i o 1 HEfed
(A) GETEd | RSl 3
® Famsa v (B) T T FUCIIES fer
(C) TR (C) AT I TE ST
(D) o A off T (D) Frewl % o wey wfE 1w o7
T wT & fad S / SPACE FOR ROUGH WORK
1102/¥F-152/ET-E



61.

62.

PART - T / o= 0197 65.

English / 3#=tt

His sister is than his wife.

Direction : Choose the appropriate

alternative from these given below.

(A)

{B) very prettier

(C) most pretty
(D) prettier -~

My grand father is ninety but he is
“as fit as fiddle”.

Direction : Choose the appropriate word

group for the underlined words in above 67.

sentence.,

(A) as slim as a fiddle

(B} good at fitting ﬁp fiddles

(C) in very good physical condition
(D) of the fiddling type

The word form of ‘to be’ is wed in a :
(A) sonnet (B)

(C) simile

alliteration

Choose the correct alternative that can be
substituted for the given group of words.

Bringing about gentle and painless death

more prettier | 66.

}D-) metaphor 68.

Hurrah ! We have won the match. In
this sentence “Hurrah” is

(A) Conjunction (B} Preposition
(C) Interjection (D) Adverb /
To go “through thick and thin” is to :
(Aj loose a lot of weight .

(B} have many kinds of expeﬁengﬂg _

| (C) get married

(D) getinto trouble

Direction : Pick out the appropriate word
from the given choices to fill in the blank
in the following sentence.

Sentence : By the time the doctor arrived
the patient

(A) has died v (B) had died
(C) dies (D) will die

Direction : Fill in the blank with the
correct determiner in the following
sentence,

Sentence : We must be quick. We have

time.
from incurable disease. .
(A) Eaphoria (B) Amnesia (A) enough (B) little
(C) Panacea (D) ~Euthanasia Q) few | (D) some
T & & {8 S / SPACE FOR ROUGH WORK
1102/F-152/ ET-E 15 Set - B



69.

Which poetry term refers to the repetition 73.

of the same or very similar consonant

- sounds in words that are close together.

(A} personification |

- (B} free verse

_(C) _dl'literation v")/
(D) quatram

It has ____ all the night. Fill in
the blank with the appropriate word

given below.
(A) raining {B) rain

(C) been rainj\ﬁ (D) s raining

| : 74. Choose the synonym of the word Malady

70. Direction : Fill in the blank by the from the alternative given below.

appropriate word. _
A) diseas B lod
The fire _ - a dense smoke. (A) 1sease/ (B) melody “)(J
(A) gave off (B) gave away (€)  joy ' (D) comedy
(C) gaveout (D) gave up
_ - 75. Fill in the blank.

71. Choose from the following alternatives

| the one which can be described as bold Q: are you ?
overstatement or the exiravagent .
exaggeration of fact or of possibility. A ;1 am fine, thank you.
(A} Pun (B) . Hyperbole (A} why (B) what
. legy d '
() Elegy Py Ode (©) how .~ (D) who

72, ‘O my love is a red, red, rose
Direction : The above line is an example ~ 76.  Choose from the alternatives given below
of (choose the appropriate answers from the appropriate one word substitute for
the alternatives given below). a mass of cells growing in or on a part of
(A) Simile the body where they should not, usually

causing medical problems.
(B) Metaphor
(C) Hyperbole (A) Graft | (B) Ulcer
(D) Alliteration \)( _ (C) Haemorrh?é (D) Tumor v
T &M & fo@ S / SPACE FOR ROUGH WORK
Set-B 16 1102/F-152/ ET-F



I7 You don’t know my uncle

choose the appropriate question tag.
(A) does he (B) isntit
(C) doyou (D) don't you
A : Tattend school everyday.

B : He said that he school

everyday.

Direction : Fill in the blank of above
sentence choosing the most suitable word
from the given below.

(A} attends
(B) attended
(C) was attending

(D) is attending

Select the active form of the following
sentence.

The wail is bging built by the mason.
(A) The mason has built the wall.
(B) The mason was buﬂdiﬁg the ﬁall.
(C) The mason is building the wall.

(D} The mason has been building the
wall.

80.

81.

82.

83.

Sentence : Your application has been

— s

Fill in the blank with
appropriate word choosing from below.

Direction :

(A) expected {B) accepted

(C) acepted (D) excepted

It is “a feather in your cap” it means its

(A} a problem (B) a disgrace
(C) an honour (D) cowardly
Direction : Fill in the blank in the

following sentence.

Sentence : The man is
hearing (some what deaf)

__ of

(A) soft (B): cool -

(C) hard (D) lot

I respect the “beliefs” of my astrologer.
The underlined word is :

(A} anoun

(B) an adverb —
(€) an adjective

(D}  a part of the verb

T %7 % {74 g / SPACE FOR ROUGH WORK
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What is he doing to his car now ? 1think

One who sacrifices for any goed cause is

84. 87.
he it. a
Fill in the blank of the above sentence (A)  mascot (B)  soldier
choosing the most suitable verbal group (C) martyr - (D) leader
from those given below. - | ’
5\
(A} has polished 88. In present critical usage elegy is a :
(B) was polishing {(A) Poem of lament for death of
particular person,
(C) is polishing , :
_ {B) A long narrative poem on great
(D) has been polishing subject.
(C) A short narrative poem presentmg
a single speaker
85. Choose the alternative which best . o
changes the following sentence into (D) A lyric poem written in a single
. stanza.
positive degree.
Sentence: Delhi is one of the biggest cities
in India 89. Heis not only a great political but also “a
_ , : man of letters’, |
(A) Few cities are as b;g as Delhi . Direction : Find the meaning of
(B) Very few cities are as big as Delhi - underlined words in above sentence.
(C) Very few cities in India are as big (A) 2 man who wrote many letters
as Delhi ' (B) a man who received more letters
(D) No other city in India is as big as € a schol:.ar with literary taste
Delhi ™ ' (D) a good reader of letters
86. Which of the following is best antonym 90. Choose the appropriate one from the
. L transcription given below for the word
for “ambiguous” ? :
‘boy’.
(A) clear (B) vague (A) boi B) boi
(C) olf}noxin.ls / (D) sinister (C} bdi (D) boj
TF e & 9 Sg / SPACE FOR ROUGH WORK
Set - B 1102/F-152/ET-E .



91.

92.

93.

94,

PART-IV (A)

Science and Mathematics

In body deficiency of protein results in
disease called :

(A) Rickets (B)  Scurvy

(C) Night Blindness (D) Quatiorkar

For the scores 8, 6,10, 12,1 ,5,6and
6 the arithmetic mean is :

(A) 6.85 (B) 6.75

(C) 6.95 (D) 7

A 250 m long train is running at a speed
of 55 km/h. In how much time it will

cross a platform of length 520 m ?
(A) 50.4 sec (B) 540 sec
(C) 34.03 sec (D) 16.36 sec

The height of communication satellite
from the surface of the earth is :

(A) 36,000 km
(B) 3, 600 km

(C) 72,000 km

(D) 31,000 km

91.

92,

93.

94.

< | (3r)
fas wa it

I S 7 A ) e G

(A) fees
(C) et

(B) wal
(D) FaTfRrEeT

mfaas,e,lo,lz,lj,ﬁﬁms%%m
YHHTE 115 897 -

(A} 6.85 (B) 6.75

(C) 6.95 (D) 7

T 250 TR it 3 55 kw50 5% iy
WA H R Tw T 520 e oS Sewd
B! foe w5 & 9 e o 2 |

(A} 504 sec (B). 54.0 sec

(C) 34.03 sec (D) 16.36 sec

Yl F e W WO IR F o o
g

(A) 36,000 fe.dt.
(B) 3, 600 fmAl, |
(C) 72,000 fo.=h,
(D) 31,000 f&.7,

% &h1d % % WIE / SPACE FOR ROUGH WORK
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Toh TTHR T 3 St o Hifol o o &orhel

95. . What will be the total surface area of a 95,
cuboidal water tank if its one side is open e 2 afe U AR a7 GEn § a2 Tt
and its height is 2 meter ? SR 2 e ® -
(A) 12 m? (B) 24m? (A) 12 T2 (B) 24 Hi.2
(© 8m? (D) 20 m2 (C) 82 (D) 20 2
96. From the following table tell the SN. of ~ 96. Frexfafiae miver Soe T %4 Yoot wor
the area from which the minimum et form Toms | TS TEH @H dEdl
numbers of pedestrians passed :- ALY
S.N. Area |Female} Male #.4. ORI Tfgen | 7EN
F Ghadi Chowk '
g [FromBRaditEROWEL 130 | 318 1 | S A | 132 | 318
" |to Jai stambh :
From Ghadi Chowk
p |From GhadiChowld) 4 1 286 2 | A | 14 | 286
to Railway station - '
From Ghadi Chowk| .
3 1 15 185 3 I 15 18
|to Shankar Nagar EERLAY ™ 3
From Ghadi Chowk |
g | oMt AOWEl 22 | 128 4 |[vHdwIeEhas | 22 | 128
to Kali badi . : :
(4) 3 ® 1 *) 3 ® 1
© 2 D) 4 © 2 (D) 4
97. Magnetic power of a bar magnét is 97. U | i G A |
(A) maximum at poi_e's (A) ol W i gt 3
(B) minimum at mid points (B) HER W FH B ¥
(C) both the above statements are true (@) 3 S weE WA R
(D) its same all over the magnet (D) |t TR W HEH Bt 21
T A F ol WE / SPACE FOR ROUGH WORK
9 '
Set- B 20 1102/F-152/ ET-E
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ag.

99.

100.

101.

From the“following graph determine
which year faced maximum price rise
in India in comparison to the preceeding
are :

Graph
100% 1+ P
80%
60%+
40% 4+
20%

|
2008 2009 2010 ' 2011 '"Year

(A) 2008 {B) 2009
(C) 2010 (D) 2011

Which of the following Halogen is used
as anti septic ?
(A) Fluorine (B) Chlorine

(C) Bromine (D) Iodine

g ®
The value of Q R o will be :

(A) P B Q
© R (D) 1

MODEM works to :

(A) Send e-mails

(B} transforms the current

(©

transfer the data electronically from
one place to other
(D} convert analog waves into digital

and digital into analog waves,

98.

99,

100.

101.

Treteafe @7 9 a8 EiRg T 9qR
% fore a9 wm ¥ swd S ueol ¥ oy 5
@ ¥ sftan gea 9fg ® W %
T2

Feciic |
100% 4

80% -+
00% +
0%+
- 20%

L

2008 2009 2014 2011

(A) 2008
(C) 2010

(B) 2009
(D) 2011

Frefafad § ¥ #9 a ddem whafes &

Y I E?
(A) IR (B)
(C) st (D)

FAA
snfes

9 o
(A) P (B)

(O R

HZH R Fd ¢
(A) 399 TR H
(B) ¥ %! wfiafda w5 &1

(O sowiF fafr A <P ™ ©m 3
T WS R

T w6 i fefoeer § oin fafies
o1 Tl H wfafda ey 31

(D)

T T % R W% / SPACE FOR ROUGH WORK
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102.

103.

104.

105.

106.

The sum of all numbers between 200 and

400 which are divisible by 7 is :
(A) 8722 (B) 8736
(C) 8729 (D) 8720

In uniform circular motion that the factor
which remains constant is ?

(A)
(B)
(©)
(D)

Speed
Linear Velocity
Acceleration

Centripetal Force

When a light enters from one medium to

“another medium it deviates from its

path? It is called :

(A)
(C) Dispersion

Reflection Refraction

(B)

(D) Deviation

Polynomial x* —6x2 +12x —8 is divisible
by which of the following ?
(A) x-2 (B)

€ «x (D) 2

x+2

The curve -surface area of right circular
cylinder is 260 m2 and its volume is

102. 200 Te 400 & =it U= 9oeq &t 1 7 2

103.

104.

105.

106.

WA & ST I AT :
(A) 8722
(C) 8729

87306
8720

(B)
(D)

TEF THF gOrd T & =R 2

(A) =

(B) L& o
(€

(D) A= s =

W YRS U AT 9 O AR H way

! ® O a5 on Aw | fa=fea 2wt &)
THHEIE ¢ . |
(A) A (B) 3T9EdA
(Cy fagmm (D) To=em

HEAS &%~ 632+ 12x — 8 Fr=faifaa & &
forar g fave 22

(A) x-2
€ x

x+2

(B)
(D) 2

T o ST FT 9% (=i @7
260 #1.2 Qo TEhT AT 924 2 @,

924 m?. The ratio of its diameter to its TS A9 qul Vﬁﬁiﬁl 3T %
height is :
(A) 3:7 (B) 7:3 (A) 3:7 B) 7:3
G 6:7 D)y 7:6 Q) 6:7 Dy 7:6
X %1l % 4 W / SPACE FOR ROUGH WORK.
- Set-B 22



- 107.

108.

109.

110.

With the following graph (in the year
2012} the production of paddy (In tonnes)
is estimated as :

4 @

2009 2010 2011 2012

(A) 130 (B)
(C) 150 (D)

140
160

During the Solar Ecli‘pse what is true ?
(A} Moon is between Sun and Earth
(B) ‘Farth is between Sun and Moon
(C) Sun is between Earth and Moon
(D)

None of above

If the area of curved surface of a right

circular cylinder of length 14 ¢m is
88 cm? then the diameter of the base of
the cylinder is :

{AY 2 cms (B)
() 4 cms

3 cms
(D) 5 cms

The unit shown in electncal metres of
houses is :

(A) Vokt

(B} Waitt
(€)
(D)

Kilowatt _

Kilowatt hour

107.

108.

109.

110.

Frefofas Yafas @ a8 2012 % 99 =1
3l (T H) SHME €

T ®

| | 1 |
2008 2010 2011 2012

(A) 130 (B) 140
(C) 150 (D) 160 .~
THTE & T 1w B 7

(A) ==, ETE g F e A A
(B) v, ¥ R wmw H Hu s ¥
(C) HH, geat iR = & g 2 &
(D) IR d A FE 7

alT 14 9. a7t % T T S99 =5
ama%ﬁmssﬂﬂ%?haﬁﬁ%w
T TG G |

3 QA
(D) 59,

Ay 2|+ (Bj_
(C) 43+

=R 4 g e  feamy o ot e ¢

(A) W

(B) @R,
(C) freare
(D) [EZYIEICACE

1102/F-152/ET-E W

% FTE % & s e / SPACE FOR ROUGH WORK
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111,

111. The 18 term of the parallel progression IARR A0 /5 3.5 SE5Y2 .. hrig e
V2,343,542 . is: BT '
(A) 342 (B) 352 (A) 3442 (B) 352
© 372 (D} 3842 Q) 372 D) 382
112. A liquid cools from 70°C to 60°C in  112. 3% W& Ba %Y 70°C ¥ 60°C 7F 3v=1 89 &
5 minutes. The same will take time in 5 fiAe & HHY T TN I TE w600
cooling from 60°C to 50°C : 50°C & 81 81 H 4 70T ¢
(A). Less than five minutes (A) 5 firfe & =71
(B} More than five minutes (B) 5 fire o aifiusm
(C) 5 minutes (C) 5=
(D) it will depend on the density of the (D) =& F o W fnft wom)
liquid _
113. Polythene is polymer of : 113. Wil Frafafaa 8 @ fge qEAH T 7
~ (A) FEthylene {B) Eathane (A) et (B) 339
" (C) Methane (D) Acelelene (C) i (D) wfHet
114. Three angles of a quadrilaterals are in the  114. = =qyS & @ IV =1 I L:2: 3%
ratio 1 : 2 : 3. The sum of the least and a7 57 ¥ T B a9 §NE § HI07 H
the greatest of these angles is equal to I 180° 2 A =i & wedt o &
180°. All the angles of the quadrilateral ' '
will be - |
(A) 30°,90°, 45°, 60° (A) 30°,90°, 45°, 60°
(B) 45°,90°, 135°, 90° (B) 45°,90°, 135°, 90°
(C) 120°, 150°, 210°, 360° () 120°, 150°, 210°, 360°
(D) none of these (D) = 4 =% 75
T% & & foTil T8 / SPACE FOR ROUGH wolg{K -+
- " £ (v
A O~/ AR
Ay 7 /44 e
N ERRAE N
Set-B erx 9] o 1102/F-152/ ET-E
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35 The formula for compound interest I8

16.

17.

w 55
(B) P {1+ 'iria]T—l

[ T |
(C)“ P (l"l-—-— +1

r T
|
(D) [ 100

In the given diagram the value of x will
B_e (C is centre of circle) :

(A) 70°
(C) - 35°

(B) 30°
(D) 60°

A body moving with constant velocity has
also acceleration then the type of motion
15 :

(A} Linear

(B) Circular

(C) Statiohary

(D) None of these

115. Thife AT R g ©

r T
P BRI
(B) 100
T
I /
Pi1+ —]| +1
(© 100

- fewmy faz # x 0 wm m (C gm A

®):

(A) 70°
(C) 35°

(B) 30°
D) 60°

. Ch EHE AT Q TiHE fave F e o S a)
3 TG ) = FE ?

(A) @ W
(B) Tl
() ferd

() T 3

7% % & 19 % / SPACE FOR ROUGH WORK
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118. Which of (e followmg salt does not - 118. = =il # | fegs: a9 U]
contains water of crystallization ? Safierd 74 ?
(A) Blue vitriol (A) e aen
(B) Baking soda ) (B) @M I He
(C) Washing soda~ . (C) € giet
(D) Gypsum (D) fSom
119. It is felt that the night with clouds are 119, ITTe g Al AR AT FT e
hotter than the nights with clear sky el B B et W s 2 ¥ w=ife
(cloudless). Because the clouds : Sieet .
(A) behave like bad conductor | (A) TR I wifa B ¥
(B} bahaves like good conductor (B) ok B ¥ .
(C} stops light from moon (C) <IE & Wbl | Ut 21
(D)  very soft | (D) T E
120. Anengine blowi.ng whistle approaches a ~ 120. T 3o TS gu e g &+ T G
stationary observer what is felt by m@m%aqﬂwﬁww@m
oberserver ? ' - 7 .
(A) Lower frequency . (A)y Imgfa =
(B) ngher frequency . agfa s
(C) Higher Intensity (C) e ifirw
(D) Lower Intensity (D) iemar +8
121. Maximum band width can be obtained 121. Frafafes § frm d9r @@ &t ¥ <ol
in the following communication 5 tfue gt £ 2
_system :
(A) Terrestial Communication (A) Hafe d@aRr
(B) Optical Fibre Communication (B) WeI¥ 6 HOR
(C) Line Commumcaﬂon (C) <1 HER
(D) Satellite Communication (D) SUUE HIR
T %™ % FF ST / SPACE FOR ROUGH WORK

Set-B

1102/F-152/ ET-E

|




222. In plants the most suitable part for the

study of meiosis is :
(A)
(B) shoot apex
(©)
(D)

root apex

pollen mother cell
Endosperm

122, m%ﬁﬁaﬁqﬁﬁw%mﬁwﬁm

EReitil ol
(A) I = 3
(B) & = st
(C) W Ay S
(D) yoriy

¥23. An equilateral triangle ABC is inscribed 123, Th g S ABC 39 ¥ ot R
' in'a circle of centre as follows TNE |
-
Bvc
< BOC will be equal to : £ BOC =1 917 81
(A) 60° (A) 60°
(B) 90° (B) 90°
Q) 120° (C) 120°
(D) none of above (D) T 4 % HBT
124. in a village the number of members in 124. U g § 20 wfian F W W Fem
20 family are as follows faR ® .
6,8,6,3,2,5,7,8,6,5, 6,8,6,3,2,5,7,8,6,5,
5,7,7,8,6,6,7,7,6,4. The frequency of 57,78,6,6,77,64. TR wfEari = fee g4
families having 06 members are - T 7 Agfa g
(A) 7 B) 5 (A) 7 (B) 5
© 6 (D) 4 © 6 - (D) 4
125. Ifx=2 then the value of (x+2) (x~2) will 125, A x=277A (x+2) {(x—2) =1 °F 8 ;
be
(A) 4 (A) 4
(B 22- (B) 22
() 0 © o
(D) None of these (D) =19 ¥ =8 ) Tf

T &E o fq&F S / SPACE FOR ROUGH WORK

2/F-152/ ET-E
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126.

127.

128.

129,

The dimensions of a metallic cuboid are
100 % 80 x 64 cm3. Tt is melted and recast
into a cube. The surface area of the cube
will be :

(A)
(B)
(©)
(D)

38400 cm?
34800 cm?
38600 cm?
36800 c¢m?

The current used in induction furnace
are :

(A)
(B)
(©)
(D)

Eddy currents
D.C. currents
A.C. currents

None of above

Medium is not required for flow of heat

in which of the undermentioned ?
(A)
(B)
(©)
(D)

Conduction
Radiation
Convection

None of th_e above

The main cause of eating/capturing of

(9

127,

128.

- (B)

129,

wE g T %ﬁﬁﬂi 100 % 80 x 64 V3
¥ 32 fooen & U A WA WA R
F1 T & BT ¢

38400 .72
34800 §.7H 2
38600 9.41.2
36800 /.72

(A)
(B)
(©)
(D)

Wﬂ@ﬁmﬂﬁmﬁﬁﬂm%

el 9T

B) ="l ¥

(C)y THL 4

(D) SWF d wig TE

(A)

Frefafae § 9 e ﬁfﬂ%mmﬁj
e ¥ fore arem =Y sTavaear =l et 2|
(A) e
faferom
(C) ¥

(D) ST A Q18 T8

Freqsl ol F R i F YW HH W

insects by insectivorous plants is : WE FRU L
(A) To obtain carbohydrate (A) FRIEESE I HET |
(B) To obtain mineral salt (B) @S o 9T Al
(C) To obtain CO, (C) CO, T W= FTT)
(D)} To obtain nitrogen (D) TEEISH W T
% @ & 7R W78 / SPACE FOR ROUGH WORK
Set - B 1102/F-152/ ET-H



. The numbey protons electrons and

80 _
neutrons is 35 Br are:-

(A) 35, 36, 45

(B) . 36, 35, 45

13G EmB“
- 4gBr

=, SR a2 o v
¥
(A) 35, 36, 45

(B) 36, 35, 45

{(C) 45, 35, 36 (D) 35, 45, 36 (C} 45, 35, 34 (D) 35, 45, 36
131. Wood is an insulator because : 131. TS T o & i
{A) it has plenty of free electrons (A) =ud A Hod SR d ¥
(B) it has plenty of free protons (B) Rd & W B ¥
(C) the number of free electrons is Iess (C) <uH g sorogil %t e v E'Fﬁ Tl
(D) none of these (D) 399 § =+ 74
132, Kreb’s cycle takes place in : 132. %59 =R el W e g7
(A) chloroplast (A) FARMERS
(B) Mitochondria (B) wEEIHItET
(C) Nucleus Q) HF
(D) Golgibody (D) iRty
133. The two acute angles of a right angled 133, WHERIV g e & 2 = o o
isosceles triangle are :
(A) 45°, 45° (B) 60°, 60° (A) 45°, 45° (B) 60°, 60°
Q) 707, 70° (D) 80°, 80° Q 70°, 70° (D) 80°, 80°
134. The ratio of males to females in the 134, ferelt wre & o v s 1 e
population of a town is 12 : 13. Find the SFIUR 12 : 13 @ a‘r S # Afgensl w
percent of females in the population. i &
(A) 48% (B} 52% (A) 48% (B) 52%
€ 50% (D) 54% (C) 50% D) 54%
T w7 o foTd S / SPACE FOR ROUGH WORK

M2/F-152/ET-E
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135, Chemical formula of calcium phosphate  135. Srae THERe Y Ta T ERE :
is : o :
(A) CalPQy - (BY Cay(POy), (A) CaPOy, (B) Cay(PO,),
(C) CayP,0, (D) Cay(PO,)s (C) CaP,0; (D) CayPOy),
136. Which of the following is not true ? 136. Tfefea ¥ @ #9 = @@ 8 52
(A) Sound wave needs medium for (A) F=w ®q @@ wn % mem w5y
propagation YRl gl &1 | |
(B} Speed of sound is greater than (B) =& W o1 WahIT & AN § a1fs #1
speed of light _
(C} Sound waves are longitudinal (C) by ot sl vfa = et ¥
(D) Light waves are electromagnetic (D) oot i T et 7 7
waves.
137. Bacteria related with food poisoning is : 137. @ faursra @ wata sfam € -
(A) Claustridium titani (A) Feegifean fadt
(B) Claustridium botulinum (B) FREISHT AfATH
(C} Plasmodium vivax (C) wIRHIfeH aRaa
(D) Bacillus subtilis (D) e wafefey
138, Identify the unsaturated compound from 138. Frfafas o swiga Al #1159 =1 :
the following : '
[ Propane I LIEE]
Il Propene I WA
Il Propyne M e
IV Chloropropane IV SRR
(A) TandII (A) 1@
(B) Iand IV (B) OwaIV
(C) T and IV (C) MusIv
(D) HandlIlI (D) mUusm
T i % f@d g / SPACE FOR ROUGH WORK
1102/F-152/ET-E
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139. If a parallelogram with area P, a rectan gle

with area R and a triangle with area T
are all constructed on the same base and
all have same altitude then a false
statement is :

139, ﬂf‘awwmﬂgﬁaﬁvmaﬁmp%,

wmmmRémwﬁw
maﬂaﬁmi*%wﬁwwwﬁﬁﬁ
R AR T S ww @ A e wem
T B ?

' 1 _ 1
{A) P=2T (By T-= ER (A) P=2T (B) T-= ER
(C) P=R (D} P+T=2R (&) P=R (D) P+T=2R
140. If the sum of two angles in a triangle  140. =% forelt i & & ol o I A F
equals third angle then the triangle is : % TP, 5 % s g
(A) Equilateral (A) HOsE
(B) Right angled (B) waE&®mr
(C) Obtuse angled (C) iy o
(D) None of these” (D} 798 | 3 oft 71
141. Organ of Human body that is responsible 141, 99 R F qoeRm s =3 aen s
for osmoregulations is : & :
(A) Stomach (B) Liver (A} sHIeE (B) IFw
(C) . Kidney (D} Lungs (C) Tu= (D) Wwe
142. Harishboughta cycle for Rs. 860 and later 142, &g 3 %. 860 H T Troehet Wiy a9t arg
sold it to Ram at a profit of 5%. Ram used A 5% o9 H A fean1 o9 grrme
it for his son for a period of 2 years and CIRE] T & o &) ad 39 fohar qon soes
later sold it to his servant at a loss of 20%. IR T I e 3 20% =11 # < feamy
For how much did the servant get the et B Srw [ELER: R 521 '
cycle ? :
(A) 722.40 (B} 730.40 (A) 72240 (B} 730.40
(C} 738.40 (D) 746.40 (C) 738.40 (D) 746.40
T % % 99 9% / SPACE FOR ROUGH WORK ‘
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143. In a triangle ABC, PQ|[BC and QR||AB  143. ¥ U& & ABC ¥ PQ|IBC 741 QR||AB
‘and P is mid point of AB then : qu P, AB®I A gt
A
P Q
Bi——g—
(A) BR=RC (B) BR=zRC (A) BR=RC (B) BR=RC -
(C) BR=RQ - (D) BR=BP (C) BR=RQ (D) BR=BP
144, A rectangular garden is 500 m long and 144, T&H S& 500 Tl o q=1 400 7. =T &)
400 m wide. A path of uniform width TTH F IR AR el IR T 5 e O
5 meter runs around it inside the garden T &1 530 &1 T T AR B
then the area of the path is: -
{A) 8800 m? (A) 8800 w2
(B) 8900 m? (B) 8900 w2
(C) 9000 m?2 (C) 9000 HP
(D)' " none of these (D) FTRIABE
145, 1f the population of a town is recorded in 145, FR o Wt & awadt =nd 2001 =1 2011
the year 2001 and 2011 as 5,60,400 and H AN 5,60400 W& 7,00,500 e & 7
7,00,500 respectively then the growth rate TadsmwmmsTE F Iz AR E:
of population is : :
(A) 20% (B) 30% (A) 20% (B) 30%
(€) 35% (D) 25% (C) 35% (D) 25%
T e % TR 7§ / SPACE FOR ROUGH WORK
S
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146. A car travels from X to Y a_nd. then
Y to Z. The car takes 4 hours to travel
from X to Y at an average speed of
40 km/h. It travels 140 km from Y to
7 at an average speed of 70 km/h. If the
car takes total 6 hours what is the average
speed of travel from X to Z ?
tA) 95 km/h
(B) 110 km/h
(C) 50 km/h
(D) 60 km/h

147. With the help of the following graph find
the difference between the cars sold
2008 to 2010 and 2005 to 2007
respectively :

7000 .
6000+ . .
5000+ .

4000+

3000+ - . .

2000+ -

1000+

i T I L l
2005 2006 2007 2008 2009 2010

146

147,

Tk HR XY aF G Y © Z 9% - B
FR H X ¥ Y dF w1 ®/ siug
40 oot o 9 e | 4 o e ¥ wE
Y ¥ 7 9% 140 T6.01. =t gl 70 T oft/woe
F HIe ¥ T HA@§ IR FR R FA 6T
wﬁ%ﬂxﬁzﬁaﬁwﬁwaﬁaﬂw
I TN ?

| (A) 55 AERIWAC LE

(B) 110 f.#1. /=0a]

(Cy 50 T4} /5o
(D) 60 T4t/ 5w

frferfiga antm #Y wemar § 2008 § 2010
TR T 2005 § 2007 TF F T FR )
T IR JIF W

7000+ ' .

5000-- R

4000+
3000~

r
«

2000+ .
1000+ .

i N | l I
2005 2006 2067 2008 2009 2010

(A) 1000 (B) 9000 (A) 1000 (B) 9000
(C) 8000 (D) 10000 (O 8000 (D) 10000
% &4 o f@ 9% / SPACE FOR ROUGH WORK
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AR

149.

150.

The focus of a concave mirror is :

(A) Imaginary

(B). Real

(C} Both of above is possible

Cannot be said

®

The value of (—x)°+(—x)! is

(A) x (B)

- X "

© r D) -

The property of body by which it cannot
change its present state (Rest or motion)
by itself can be explained by which of the
Newton’s laws ?

(A) Law of Force
(B) - Action/Reaction Law

(C) Law of inertia

(D) None of these

-y

148.

149.

150.

.(A) T
(B.) arife
(C) o S g &

(D) ~7&l =g S uHa

Tl & oA Faen (fer - faam) 9
mﬂaﬁaﬁ}maﬁ:@ﬁ%ﬁqﬁﬁmﬁ
A 1 SHdT & ?

(A) ¥ & Fram

(B) fwa/wfafiear =1 fam
(Cy e w1 fam

(D) T QA BE ot T

% & & A8 98 / SPACE FOR ROUGH WORK
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